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PHYSICS
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M
Q. Find current through Zenor diode O
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M
Q. Atwhattemp (VrmS )H2 IS same as (VrmS )02 at temperature @ O

(1) 94 K (2) 293 K (3)20 K/ (4) 40K
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M
Q. The electrostatic potential due to a dipole at a distaries as :- O
T
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M
Q. If young's modulus of a wire @nd Its length is 'L' and its cross sectional area is 'A'. If the length of the O

wire is doubled and cross sectional area is halved then young's modulus of the wire will be?
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M
Q. Two current carrying ring of radius 'R' are mutually perpendicular and their centre coincide. Find net O
magnetic field at the centre.
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e
Q. If work function of a material is 3eV then find maximum wavelength for which photoelectric effect takes O
place.

(1) 0.30 um j()’&m Lm (3) 0.60 um (4) 0.1 um
. qg —_ l’\ 0?
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M
Q. A ball of mass 100 gm is dropped from a height of 10 m above the ground. It rebounds and reaches to O

a height of 5m above the ground. Find Impulse of force exerted on ball by the ground (in N-S)
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Q. (a) Surface Tension
(b) Coefficient of viscosity

(c) Angular momentum

(d

Rotational kinetic energy
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e M
Q. Aparticle os projected at an angle of 30° with initial velocity u. Find its angular momentum O

about point of projection at maximum height.

) mu? _a/_gmu3 3) J2mu?® @) J3mu®
4q 16 g 29 29
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M
Q. Ifa body is released from top of smooth inclined, then its velocity after descending height of %m is O

(1) 20 @) J10 (3) 2J10 (4) 10
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Q. Find acceleration of 2 Kg block.

(Mg
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M
Q. Resistance of roster at 27°C is 60 Q. Temperature coefficient of resistance is o =2 x 10 Per °C . Find O
v~
temperature of resistance when voltage and current across resistance will be(210 Vol and 2.75 A.

(1) 1250 °C (2) 890 °C fartesscC (4) 2015 °C
o 220 Ve I+ _
g 27°C  Gox T g= ZE
4o 10 P 2%
hr= — _ —
D*; | 67 x\0 Q:KG<’+K07%)
AF-1(T70 K= &0 Ko= 60 @Q:éo—}Qooko\
Ak: __2_(3 :J/
Sorx = B
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M
Q In given electrical circuit Voltage drop across E2 will be- O
8V, 2Q 2V, 4Q
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Q. In an electric circuit a resistance of 3.3 kQ is connected with seven 100 Q resistance in series. If all
resistances are connected to a 4V battery then the reading of voltmeter connected across last 5 identical
resistances will be-

1 1
(1) £V /é)zv (3)2V (4) 1V
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30

M
Q. Find the work done by gas in cyclic process. O
@k
%,
7(

10

10 30
(1) 200 J (2) 200KJ \(:yzzom
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M
Q. A particle travels 125 m with change in velodity as 50 m/s in t to (t + 1) second. Find the displacement O

in (t+ 2)" sec.

(1) 100 m \/(zﬁmm (3) 225 m (4) 275 m
UdU= _A_Y; S0
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A= 5o
UT Tot+25
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M
Q. In a convex lens the distance between object and image is 45 cm and magnification produced by lens is O

+2 then what would be the focal length of the lens.

(1) 30 cm (2) 45cm (3) 60 cm (4) 90 cm
) Vo +2= o
NN m= 1"
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W) LW M
Q. IfaL-R circuit power factor i pr E= 25 sin (1000t). Then power factor for E = 20 sin(2000t) will be.
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M
Q. A Disc of mass m and radius R is rotating with angular speed « about axis passing through centre of O

mass. Another identical disc is gently placed onit. Find out loss in Kinetic energy of system

(1) L mR2e? (2) L mR2%e? (3) - mR2e? ) L mR20?
2 4 6 8
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M
Q. If current through a wire is Y2 A then find force per unit length of wire due to a magnetic field of O

3.5 x 10~° T in the direction 45° from wire : o B
B
45° ol
= = /L
1)L x10s N (2)3.5x 105 N (3)35v2x105N @4y 7x10s N
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% M
Q. E=Eo i)s{n [(wt — kz)], then B will be O

\(\17{8 (Eoc)$in (ot — kz) | (2) B = (Eo/c)sin (ot — kz) \/
T?(B =\(Eoc)sin (ot —kz) i (4) B ={(Eo /c)sin (ot — kz)@ ><
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Q. [f gravitational potential at some height is 5.12 x 107 m?%/s? and gravitational acceleration is 6.4 m/s?, @
then find the height abaut earth surface :
(1) 3200 km 1600 km
(3) 800 km (4) 800 km

Car Hn
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M
Q. Primary coil has 100 turns. & no. of turns in secondary coil is 10. Then find v o : O

(1)22V
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M
Q. IfHydrogen electron is excited to an orbit of energy — 0.85 eV in an atom then maximum possible number O
e,

of transitions to lowest energy févels is —
(1)6 (2 (3)5 (4) 2
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M
Q. The fundamental frequency of close organ pipe is 50 Hz. Now some water is filled then fundamental O

ee—— e ———)
frequency becomes 110 Hz. If the cross sectional area of the pipe is 2 cm? then find the amount of water

350

added in grams. Speed of sound in air = 330 m/sec.
(1) 90 grams (2) 180 grams (3) 300 grams (4) 18 grams \/ /’

"\/ N {), /\/2‘36
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M
Q. If young's modulus of all strings is 2x10'" N/m?2 and cross section area is 0.005 cm?2. Find the elongation O
in the string connected between blocks A and B, if the length of string AB is 1 m.

3Kg T 3Kg—a
A B 7 l
c |3kg
(1) 100 em (2) 1.¢cm (3)0.1 cm (4) 0.01 cm
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M
Q. Two capacitors of capacitance C and 2C and potential difference between plates V & 2V respectively are O
connected together then total energy loss is %E . Where E is the energy of capacitor of capacitance C

and potential V. Then value of 'x' will be —
(1)2 (2) 4 (3) 1 (4)3
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